[—
(=<
(=)
o
o
—1
(72)
(=<
o
(77)
=z
(=]

-=E. Dasor

ELECTRIC

B e ep SP SP+REF GC o o
mm inch mm mm kg b kg b EEEIETH T ik
SP 100 100 4 |25/| 4 |350|772] - | - | 26495 | 058 I3 ao
< e N
SP 150 150 6' | 25| 4 |350|772 214939 | 071 i - o
SP 200 200 8 |25 4 |350|772 214733 | 084 2501 50
SP 300 300 12| 25| 4 | 290640 S| o3 | 11 d[ 6o
SP 400 400| 16" | 25| 4 | 250|552 | 724 [1597) 21036 | 1,38 0l
SP 500 500 | 20' | 2,5 | 4 | 220|486 |592 |1306] 21037 | 164 o
SP 600 600 | 24 | 25| 6 | 200|441 501 |1105 24938 | 191
SP 700 700 | 28" |25 | 6 43 957 | - 235
SP 800 800 32 | 25| 6 383|845 | 21038 | 244 8
SP 1000 1000 40" | 25 | 6 310|684 | 25086 | 3,06
RA50 450 | 18" 8 27325 | 339
(%]
p 1507380 M6x25 (0/1064-EZ / 2/9995-00880-1304) + TM41 M6 (0/0427-EZ / 2/8225-GC) b
F CFBFRAL (2/10284) /1507380 M6x25 (0/1064-E7 / 2/9995-00880-1304) + SSC . _
(2/2064-E7 / 210363-GC) + TI41 M6 (0/0427-£7 / 2/8225-GC) | | m
p |_ DING33 M10x30 (0/0320-304) + BFE M10 (2/0864-GC) + TM41 M10 (0/1071-GC) Ra50
B e ep SPD  SPD4REF g
mm inch mm mm kg b kg b m SR
SPD 300 300|127 |25 8 |500(1103 - | - | 26251 | 212 . 5 ol
SPD 400 400| 16" | 25| 8 |500(1103] - | - | 26250 | 2,65 ) e I7)717
SPD 500 500 | 20' | 2,5 | 8 |500|1103|1123|2476) 266272 | 3,18 i
SPD 600 600 | 24" | 2,5 | 8 | 430|948 | 950 2005 255621 | 371 o T %
X
SPD 700 700 | 28' | 25| 8 | 370|816 | 823 1815 26273 | 424 J & ots]
SPD 800 800 | 32' | 25| 8 |320 | 706|726 |1601| 2/6274 | 4,77 (ol
SPD 1000 1000| 40" | 2,5 | 8 | 260 | 574 |588 1297| 264l | 584 B+50
SPD 1500 1500| 60" | 2,5 | 8 275 | 606 | 24642 | 873 sPD
RA50 450 | 18" 8 27325 | 339
B |
p 1507380 M6X25 (0/1064-EZ / 2/9995-00880-1304) + TMAL M6 (0/0427-E7 / 2/8225-GC)
y? CFBFRAL (2/10284) /1507380 M6x25 (0/1064-EZ / 2/9995-00880-1304) + SSC
(2/2064-EZ / 2/0363-GC) + TMA1 M6 (0/0427-E7 / 2/8225-GC) 14
DIN933 M10x30 (0/0320-1304) + BFE M10 (2/0864-GC) + TM41 M10 (0/1071-GC) J‘LEE -
¢ ]
20
R450
SVP
¢ L Mmax )
mm mm  inch kg/m NI kg/ud E—F ﬁq
SVP 500 2 | 2500 2 | 409 | 23633 | 12 =
SVP 700 3 | 2700 | 28 | 409 | 25983 | 176
SVP 800 3 | 2|800 |32 |409| 2498 | 198 ~ o
SVP 1000 3| 2 11000 | 40" | 409 | 26340 | 250 e
& [E SHUSHRISP/SPD + DIN933 M10x30 (0/0320-304) + TMA41 M10 (0/1071-GC) J TP
n
. g J

10

B06 | BASORSUPPORT



